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1. llntlLnrl uuhr-fruhtlnul ttr .U|LIIrLI.UL I-hQhLq €ULIOLh, ni..lrr Otr ptrLlhpnrplurh

(rujunrhtur' fhl4hpntplnrtr) hrudurlunp4Lhpf tr Lr qnpbptr\hptrhplitr utnnrg{nl
burnurlmplnrtrtrhplr 4|rLiug qrutr&rlnl uur\ruqtrhpp rflr2trnp4ur{druphhpp (urSunr}rhur'

Uu!tuqtrtp):
2. Unrlh Uru\urqLbp| &hu{nprirutr h}l{pnuI ptr\urE htr ilir2urqquSfL purtr\uq}itr Lr $}rtrurtruur\ruh
ptr\hpnrpjnrtrtrhplr qpLu\ulr\ru3nrr-i Eurnru3ntplnrhhhplr r-iruurnrgr-[tuL qnlnrp3nrh nrhhgn4

hlrrltrur4pnrlptrhpp:

3. Unr3tr uur\rugtrhpp \uqui1 htr Ctr\hpnr.pltutr \nrltifrg ilhu\nqilmlrfr t]rnrfrn]urlL1 urlq tiurulrh

hurluunqtu Ctr\hpnrpputr qur2rnnhur\urh \uqpnul Lr/ \urri urll hpr.uqurpr.u\urll-rL rulplnrpLtpnrtl,

Ctr\hpnrpluh ururpru8pnui hurdurlunp4trhplr hutlurp rntrLurtrh;lr Llr.ulpnul mtquqphpLl, |rtr1qliu
hurh hrudulunpqLhplr hhrn \trprlurb qu,1 urtrurqphpnrl hru]uuruhu{urE \Ltpqnrl
hudulunp4hhpfh url4 riuruf tr btu[rnr.gtprl:

4. ZudLulunp4lr \nrltthg ilrqhlrgh qurlrlutruqplr, rlurp\ur3ftr qurlrlurtrurqplr L,lutl tulL

qtultturtrruqphp|, ftr2ulhu Ltuh r{utnnrgr{urE EurnLrqnrp3nrhtrhp}r upu3r.fu.rtrurqptpfr

uunpruqpnuip hururnunnnul L unrlh lJur\r.uqhhpfr, ]rLlqku trurLr Ch\hpnrpSurh \nr1r[]rc rni]1ur1

burnru;nrp3ruh hur.iurp uurhrlurhrlurb urnurLd.lrL uprqr,[ruhhhplr Lr \urtrntrtrtplr phry.ntr nrr.ip:

5. Unrlh Uru\tuqtrhpnrl nrrlrltu\f jrufuruurhurlurb, uru\urltr Ctr\hpnrpltuL !nr1l]rg rlurr.nnrgrlnrl

bunur;nrplnrtrfuhpfr, qnpErunhntplnrtrthplr m qnpburppbtp]r ululiurhhhpp uurhriurhrlnr htr

Ch\hpnrpSurh h hudurlunp4|r ilf2L \LpLlub qru3tlurtrruqpnrl b/I1uil Qtr\hpnrp3uh trhppfrtr

lrpurrlu\rutr ur\rnhpnrl:

6. UnuL&frtr 4hqphpnrt[, hu2{lr unhhprrl hurdru}unp4li' Ch\hpnrplnrhnr nrtrtgrub rlup\ru1fL
u1uu.nlnrplnrbp, ulurf{f 4uul]i qnpburpuqr hurttpru{p, Ctrlltpnrplutr hhu
hr.ur[ruqnpbru\gnrp;urh duniurtrur\urhurur{urbp, qnpburppfr phnrlpp L n}ru\f uur.n}druhp,

lrhlrq hu hutr nphL $nL4]r dlr2ngnr-[ r,ltrpru]]rhruhuutlnpLpr 4t ulptpnui \urpnrl Lh runru2rup\{h1

unr.3tr Uru\urqLtp]rg urupphp qrulftutrhhpnrl (n1 urnuh4u-rpur) Uu\ruqbtp'

qnpbtu4|ip uhopth

(UlLIbLf'UL Lhgf'Lq €UUOLhr Oht[Ir OFC
qnnoc'l-,rrbn bfhL uusnr.8.{n1 Oq.S.{bI-nh zuuur
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7. QLrLltpnrp3nrLp Llupnrl t npn2 r-lurp\uqftr bpurqphpfrtr riruutrur\gh1nt rup4Prtrpnr

urnur2urp\h1 unrltr Utu\ruqtrhp]rg rnurpphprlnrl burnulnrp3rutr uu\ruqhhp' npnhp \hurtr4|ruruhr'ult

urlruy bpurqplr ulurhurh2 \ruri Ctr\hpnrplurh \r'upEfrpnrl \uqrn1 hh uupphp 1lrLh1 unrltr

uur\ruqtrhplrg' hltrtpll 4purtrg nfu\uqLnrlalnrtrlrg, $lrtrtutruurrlnprlnrl nlnpurlr

urnutid.htuhuur\nrplnrtrtrhpfrg, hurdrufunp4|r uhuru\lrg h Uruurur\nqrurp \tud anpbptr\tp

\unrnrlgtrhplr \nrlLifg urnur2urp\rlnr1 rnupphp unrpulr4rur'lnptlruh brunrulnrplnlLtrhpfg:

8. Ctr\Irprrrp]rrrtrp ulururruufurutrururrrr 2L urlrlrurrlprtrhuphfir rrld]r (ptrru\rub ulltrn[rh|,

rqkurrullurtr riurpLilrtrhhpf ur\urhp, qnpbru4nrl prurltupruolru\urL hmqnt hhp' 2p2rurfrrullnultrhp'

hlinruhruryprpu\gnrialruL rili2ngLrhpf tu2luurururtrpfr 4rurltuphgnnl' rupurur\urpq rult

hurl-rqurrlurtrpLkp Lr ul1tr) htiurLtuLpn{ tunur2urgrub nt2rugnnlhLplr' u}uultrLpf Lr t]truruhhpf

hur up:
g. ZZ ophhurlpnrpy'u p uurh{rulrr-luE \uqrqnrl ruuluhnqqtuE ]rprurlnrtrptrhplr

qpruhcrurlurur3urhnrti flrqfLqfr urnup\ru1]r qputrgr-[uL L qpruhgntrlfrg hurhhprbtuluutpp

tLpu14ru htr r.]rnfrhr.urnnrgr'[u.rL lrrudtu]ur.rp4trhpf \nr1tt[rg'

L0. Umltr Uur\urqtrhpn{ nrrirpu\f frru}rru'nnturlurb, uur\uqh Ch\hpnrplruL qnlillrg LbqhLqb

urnurp\ru1[r \tu{ qpuul} runurp\uqlr qprutrgrlurh htur \urulrlurb pnlnp bruluuhpp htrpru\ur hh

rlrnluhururnrgdtuh hudr.ulrrnp4[r llnqti[rg:

11.Ur.rr1[rUu\ruqhhpplhlrurqtrruurrltrur]uruurhu{ubqlrpbrurrlrnrplruhLluurupnrrlfrghhun
purgnrglrl Eurfuutpf, tltrurutrhplr r[n[uhrur'nnrgriurtr tqurpuurllurtrnrplnrL]rg h/\tuil lttr
uurhr.iurtrur{rtu!nni ru11$}rtruhuur\rutr hhurhtutrptrhpf Llpur hurutrhlp;

12. Unr.lh Uullu.rcltrhpp nrclf dh2 ttr r'ntrnul 2024 prlurLlurhlr hnrl|rulr 1 lrg:



cupdu\uh qnlJph $qht q

1. Slq[\ru\utrurtrA
Aunuqntplutt whuwSp - utt{uftnuIp

1.1
'llull luhurqlh \trpriurtr rtf tuh{urq rllr2trnp4urLldurp'

ulurldtutruqplr qnuftupfr h\uunirurip
0 .5o/o- I .5o/o

(LLpun1u1 UU2,)

1.2 Sruph\tuh utniurhru\urh un\nuu4pnrlp 1,3o/o-24o/o

1.3 Lurfuurrl uqr&Jr ur rup h ! tutr urtrr] urhur\ urh un ! nu u4 p n r 
1 
p 73o/o-240/o

1.4 'luy.ituhruqpfr hhrupurr.lnp updnrlp 2,1 4Purr'l

1.5

Utrlur\urtrnrpluL fpurlnrtrpfr rfrn]uutrgr.huh rldurp
1 ,000,000 22 4pLurip hLpurnpul qur3rlruhruqpru;ftr qnulurpn{
ilrqt trql, 4hrqpnu{ (rld*frp uurhriurLr.lurE L lnr.pupurh5ntp
ulurl riurttuqplr tuunti' tutr\urlu 4pru runruplur hrutr 4f u urgn rl
qmlphplr pruhur!fq)

1 0 ll lpurL{
(Lhpun1ur1UU2,)

1.6

Uh{rurllurtrnrplrutr }rpurlnrtrplr rfn}uurhgrirutr rlduLp

1,000,001 22 4pLurl Lr urrlhl qurlr.ituhruqpurl|rtr qnr upnrl
*tqht ql, rlhqpnrtl (.id*lU uurhrlurhr{urb L 3nrprupurtr5rnp
rqur,1 rutrurqplr ttuunr{' urh\tu}u 4pur unurp\ur hurL4fruurglrl
qnrlptplr puhu!fg)

5,000 22 4puut
(trhpurnlurl UUZ)

7.7

Spurtruulnprnurlf tr illrgng[r (S/U) urnnulurdurnpfr r]nuphp]r

\p\hu\f upu ru4prftutr 4hqpnul qrutr&rlnq
dlrghnp4uLldurp

20,000 22 rlprur-l

(Lhprunlurl' UU2)

1.8

Uhq $qlrt qh qul urtrruqpnr.l \Lp{ub ,ihqhg u{ht
urptutruqnpurtullrh rllr2ngtrhph (S/U) utrrfrur!urtrnrplurtr

|rprurlmtrptrhpp ruu-uu ilrnlurulrghpt ulurpruqru3nnl

lnrputpruhgnrp qnpburpplr hutlurp qurL&rlnr1

rtlrgLnp4urldurp

20,000 2,2, 4puu.l
(trtprunlrul' UU2.)

1.9

'[ur.1rftuhruqpfr qnpEnrlnrplurtr urnur2lrtr h lnrptupurh5nrp
hur2np4 urupnr drud\huurtrg firq]rtrqurl]rtr r{durphhp tr ru11

qruprnul{npnrplnrhirhp lnrtrhLurprr 4hqpnul ururpt\urtr
tnnllnuurrlpnrl pfr tnlruqhgdruh hhrupu{npnrpSnr-[r

0,5 % Lnurph\ruh

1.10

UpdfqfLqf ur2|Lnuurur\glr \nryI|rg npultu fluqnpLlrLrb
ut.rd,, &O nril rnpurtruqnpr.nu.rl|rtr rtlr2ngh hur2r.lurnrfurh
tr,lrurl uhrfrru\urhnrp3ruh rf nluruhgriruh qnpEphprugp

|rpur! r.utrruqtrhl nr 4hul Bnttl gutr&r"l nt l]qtrnn4urd druD

30,000 ZZ 4putt
(hhpurnlurl UU2)

r.11
Llrqlrtrqrunnrlr rlrnrlurlunrplnrh 300,000 22 lputrt

(hhpurnlurl UU2)

t.t2 Statturhph unuilu+nrluh ilhplmn+ru{durn, uru} p{nt
I-hqhhqh hurqnp4|r rlhpurphplurl urhrldurp

- .{.drupnrdLhp}r tr urpnr Lhplr {hpuphplurl urtr{drup



Lhqht sh uhrlrru\urhnrpyuh lrpunlnrbBlt
rlrnluurtrgrlurt.r rlhpruphplul r.nhrlh\uhpfr \p\t *\h
r.npru ur4pmt[

10,000 22 qpurd

(Lrhpurnlurl UU2)

- Llrqlri qh runurp\ruh htrpurrlurp&ur\urprplurrip

urputluulphlnr ilhpurphplul (nrpurputr5nrp
LnL r1L\t rLpf hurtlrrrp)

10,000 2Z lpunl
(hhptun1u1UU2)

Ourupurlhqnr fliuqnpurqphp 1.|rqht qh

urnrup\utL/urnurp\rutrtpg 2,2 urtupubp hurughhlnr

hur rup' lmprupurtr5mp 2-prlfrg u\uurb

5,000 12 lpunl
(hhptunlurl UUI)

Otnruprulhqnr rnhrlt\urtrptriip, $uqnpurqptp flrqliLqft
r.unurp\urL/urnuplurtrhpp ZZ ururpruEpfg 4nrpu
oquruqnpbhpr hru urp
(runLurltlurqnt.ltrp 1 uruplr dutt\hrnn{)-

5,000 22 4pruri
(htpurnlurl UU2)

- fI1 utnurtr4uprn urhrlL\urhpLhplr urpurr[ru4pntr.l
5,000 Zl 4pru

(trhnurntut UU2)

t.lr,tlri ql, uluqLiurLuqplr h \|rg bLurltlLurbLhpb

L1 nL trolhtnuh h urprurltu4pnr

3,000 2Z rlpuJ
(Lhpunlu1UU2)

t-h,fht,qF unuqr\tu1|r hruriLuputrlr2|r \uti
nhluurtr&htuqpfr \npuurlr rlhulpnul firruqnpruqfrp
urprur.lur4phprt htutfup (hhpurnlul

uurpprurlr.rpnr hhpf hru2rlurnrlruh, 2lrtrtupuqlu\uh
urhfuLlr\Lulf h/\ur qlnuluurttnhuru\urh urhl"t h\*:h
huniuqrurtrlr2p tr urtlutul-rd.truqlrru)

5,000 22 4purl,
(hhpunpul UUZ)

|rtr;qtu trruh opthu4pntplurlp
uurhrfulhrluE rldurpmLlhhpfr

r]rnluhurr.nmgnul

1.13
Prqrlurbplr tnpulfturyrrlurh rflr2tnpqul[durp
(1nr-purpurhllntp qurliluhurqph qhn{), ru11 prlnul

- rflrLlr 12 rur.ilru \rnptlubpml
1,000 12, 4puu.i

(LtpLunltul UU2)

- 13-36 urdlru lltnprlubpnrl
3,000 22 4pul1

(hhnurnturt UU2)

37 urrllru L urLlt[r]r qhrqpnrtl
5,000 22 4purLl

(htpurnlurl UU2)

1.14
'IlurllurLurqplr ln6tiurh l{uni rluqrudunf\tu
4ur4unh$IurL 4tqgnui qurtrArlnq {dup

I-|rqfrtrqb qu{ilrutrurqphp}r lnrbttrutr 4hqpnui $q[bq[t
unurp\u1[r/urnup\tuhhp]r urpdhpfr'

o rllrhlr 5 rlfr ZZ qprurllr 4tqpmrl
o 5-15 rlfr 22 4pturifr 4hqpmrl
o 15 ttfr h rurlhflr 4hqpmd

(purgurnntplrur.ip Uqrunnrpu\url-r \pt1|nnurLlnprlurL ophhpml

Lruluu mL ur-[rub thqpLpf )

20,000 22 4putti
30,000 22 r.InrurI

50,000 ZZ 4purl
(Lhpurnpul UUl)

QuqLiurtrurgplr rlurqtudru ltm 4urrpuphgrftutr

4tuipnr, hlp rqr.urnr{hpp \uil hp\\nqil
runnul urdurnplr q ul ruhucllrpp huruuuur tltr:b 1L

t-f qf hqfr ilf pLnpryurldutpg
hhn jr {hpLu4urp&rlnrtt



(purgurnnrp;ullp Uqurnn4ru\urtr \ptqllnullnpLluh ophtrpnrl

hurlururnhurl rub +hq phnh)

'Ilurlrlurtrruqpfr rlurrlrudurf\hrn 4urqurpLgtftutr,

riruuur\r-uptuprirutr, |rtr2qhu trurh 2,urc{urlunp4h

\".Lrfhg ilrqht qh unurp\uqf/rnnrup\urtrhpf
urnrugnrr"[.rg hpurdrupt[uttr (ruripnqpur\urh \u{
rluuLur\f ) 1tqpnul, tpp rqutnrihpp hururnr.urnr.lurE I

ilrqht qh
y.[uurur\rupurpriurh

rumup\ur1[r/urnup\ruhhpf

\url rftuutru\fr

L]rqlrl-rqlr \urtrfuur{dupp,
Llf 2tnpqurLldurpp hhu 2htr
rltpru4rupd,LlmL{, rt}rtrLnrlh
dur[urLrru\ hurdurfu np1]r

\nryilr g Llrnfuhurnntgdurtr
tLrpur\u hL $q[Lq]r

ru urup\urlf /urnurp\uLhplr
&tnpptprlurh hhLn \unqr,lurb
plrprp burluuhpp, hhpurnlurl

\uLfururldurplr 4f rtru g

\nunur! { ub rnnLlnuurqnr rftunn

bpu2|uurrlnpnrplurtr(trhplr) \-.i qpulllr(hhpf )

dLuLi\tullrg 2nun rl.u4urptgtrhpr \ur-t {rm]rn}unrpjrulr
4hulpnr (prtpurputrynrp hpur2fururlnpnrplutr h
qlurlh ulurlr.iruhuqplr qb".l)
ilf2tmp4urrldup

qurhd.Lln4

10,000 Z 4puril
(trhpLunlul UU2)

2urdurlunprlf 4lrLinulf hlrilurtr rho, durrl\hurf
hp\urpru&qr[u.rh, tupdnt3p]i r]rnr]rnlurlurtr,
r,nn\nuu4pnrSplr rlrn$nluLiurL rlhqpnni
(nrprupurtr;;nrp u1urltfurLurqJrl-r,]bn.L) qutr&{nr1
ril.rghnp4urrldurp

10,000 Zl 4purLl

(trtpurnpul UU2)

riurprftutr

4hulpnul
qruh&{n1

ludurfunp4lr 4[ninrLif hlrr[ruh .hr,
dlu urhr.r.L\urgnrlglr rlnr-linlunrplutr
(nrpruprutr5nrp qru;rlurhuqplr qb"{)
rlfgtrnp4urd durp

10,000 2Z 4puril
(l-rtpurn;rul UUZ)

1.15 Sntldhp - urnrqurhplrtp'

'lurliruhuqpn{ tluluunnturlLub \urtr}uunldurpp (u34
p r.lnui' uru hpnr,l \ururuqllnrl) Lr Lilr2trnp4urLldurpg
uurhrlurtl{urE duril\tntrhplig hhurn 1!ruunuphlnr
4hqpnul

o 5 ur2huurnurtrpruJ]rtr op trtpunltul
. 6-15 ur2fuuururtrprul|rtr op htpLr.rnjurl

16 u2|uruuluhpulfh opfg u{h1

50,000 22 4pu
100,000 22, 4pLuLi

(htpLun1u1UU2)

'IIurlr.iurLrurql.rf lnrbmrl'
qurl urLurqpnrl uruhrlurhr]urb

unrdurLpf {dupnrrlnr.l

'Ihu1tltutrtuqpr.rr-l Ltuluururhurlurb durftuhur\tugnr3 gf g
rrr.lhy rlurpnnltrhp \uru.nuptynr 4hulpnul

Sr. r;dtp h urntqurLphhp thh
qul-rd.Llnr



Snr3d 0.130/ocfuu \turuhg flrqlrLqurl|rtr rlduptrhplr tr\ururLturilp

Luluurrlurpdp uurl-rduhrlruE drurt\hurnttl lldurphlnr Snrld 0.130/o

Uf ulllurq r.llr2trnP4uu{durP

utlul qurhfh u{ti1
rturp{n1 riurlp qnr uPfr

h\urutiurtfp 3olo ]r lurlrn{

Qnpbnrl quqrlurtnuqpf r-ihurgnplfr 5070 Lr rurlhflr

tturprlnrl rtuqp qnttiurplr r{uqurdrutt\hrn rlupnt urll

$f [ruriruru\rutr \tunnrl ghhplig uuurg{ub il}r2 nghtph

6 urr[ur.]ru hurr,lurp uurhriurhr]ru b

un\nuurqnuluphhplr qruhd.mrt

- Lltulp qnrr.irupp LIr.flrt ql, urpuriu'rqpnr lrg hhurn

unru2lrh 6 /rltg/ rurtu{u gtrpurgpnui ruripnrl2mplu p

rluphpr 4hqPnrtl
(piugurnntlal ur p Uqrunnlur\url \p l,lfrurr'u{r.rp ruL opttrpntl

50.000 lZ 4purt
(trhprunpul UU2)

Llurpuurl]rh rfruphptrhpp 2 ru2|uurrnurhpul|rtr

oprlrutrlrg nr2 Ch\hpnrplnrh hhp\urlurghhpl

Sup h\uL url.r{urt.rrulPuh- 1 . 15. I \hurp 1[rllrLq]r quqrhuhruqpnrrl irhpturrhlnr

1.15.1

1.15.2

1. 15,3

1.15.4



2. Uqpnhrud*lorn+

N Ounulntplu tt u hutu 11 p - uth{uthnulp

2.1
'rhu3rluhruqpli \hpr-iutr rllrurhrlruq ilfr2hnp4Ltrldurp
qurliluLruqpf qnrdruplr tr\urLnrluilp

0.8 - 1.50lo

tr{ruqruqnrStrg

10,000 22, 4punl,
tunur{hpiqnrlLp 1 LI1tr. 2,2

rlpur

(Lhpunluq UUZ)

2.2 Su-rph\urtr urhrlutrtu!uh urn\nuurrlpnrlp 104/a 240/o

,t Lurluunlurp&fr u.ruphLlurtr ruhrlurhru!ruh rnnLlnuuqpr.n 1p 10o/o-24o/o

2.4 T luqriutruqplr hhupurrlnp urpdnr-1p
22 qpuri,

Ul-)-t 4n1urp
brlnn

2.5

U tLlru\urtrnrpl urfu f purlnrtrplr rf nluruL gdrutr rldu p' 1,000,000 tt
4purtfp Lhpurn3 ur1 rr4rq t[urtrruqpulf tr qnr upnrl frq]rtrq]r 4tq pnul
(lduqrp uruhrlurhllurE L lnrprupurL5nrp u1u-rl urlrruqpf uun{'
urtr\urlu 4pru unup\ur hurh4fuurgnl qnrlphplr purtrur\fg)

10 22 4purd
(Ltpurnlu1UU2)

2.6

Uhrlru\rutrnrplutr ]rpurr{nr1-rpfr r.}rnfuurtrgiluitr rldurp 1 000 001 ZZ

4prurt h urrlhl tqurl tuhurqpurlfrtr qnulurpnrl 1Jrqhtrql, 4hu1pnrr.[
(rld*np uurh rutr{rub L lnrpupruh2lnrp ulu,1rfurtrr.uqplr rlLtunrl'
uL\rufu rlpur urnurp\ur hurL4fu.rrugnq qnr3ptplr puilu\hg)

5,000 22 rlpur.i
(Lrlipurnlul llU2)

2.7
SpurtruuprpurruSlrtr rih2ngh (S/[I) runnulurdurnp]r {rurptplr
L1pl1tru\]r r"nprurfur4priurh 4hqpnui qrutr&rlnr1 rlf 2trnprlurldrup

20,000 22 4pull
(trhpLunlul UU2)

2.8

Ut \ ftqlihqI qurlrftutlurqpnrl \trprlurb ilt\hg Luqtl
urpruLuuprpunu3lrh rilr2ngtrhplr (S/U) ulirlrrutltutrnrplurtr

frpturlnrLptrhpp tluu-r.iuu r]in]utuhgtpr ulurpuqurlnr

lnrpuputr;lnrp qnpEtupplr hunlulp qurh&{n4 tlrgtrnprlurdduqr

20,000 22 4purt
(Lrtpr-un1u1 UU2)

,o

'tluq rutrurgplr gnpbnqnrp3 urtr urnur2frh h Snrp tuptu h5 lnp h ru2n prl
rnurpnuf dur lltururtrg 1]lc1ftrqu.1frtr rldurptrLp Lr LLq1

ulurptnurr.lnpn rpln rtrh tp ln ttrhhurpt 4hulpnr rnurph\r.uh
r.nn\nr.rru4pntlplr tr{tuqhgrlurtr htrurpunlnpnrp.1nrh

0,5 o/o rnurph\urL

2.10
I-lrqlrirqurnnrf rlnrf niunrp3nr [r

300,000 22 rlpurLI
(trtpunlurl UUl)

2.tt S\h\urtrpfr rnprurfturynftutr rf]r2tnp4ur[durp, u{+ prltrLr.l

- t-hqht qh rltrurqnp4f {tpruptplurl ruLrrldtup

- .ldunntr.ihhnh trtltunnulhhnhr]hnuptnrrut urhLldup

Lhqhlrqh uhrllu\rutrnrp;ruh lrpunlnrtrpfr rf n]urutrgrftuh
rl tnurrknt u.rt tnLq Llt Lutrph tr nL tr*lr h urTrunftu4 p n r t[ 10,000 2,l 4puti



10,000 2,2. 4prurl

(trtpunlrul UUZ)

f-hqht ql, urnurp\urh litrpur{urp&ur\tuprpSru p

tnpur ut4phlnr r-lhpuphpltul (ntptupuhllnrp urhqh\uLplt

5,000 ll rlpuLl

(hhpun1Lu1UU2)

ourtupurlhclnr firruqnpruqphp $ql't'qh
urnrup\utr/runrup\rutrtpp ZZ uluprubp hruugtrhpr

hurhun' lnrlrurpurhllnrp 2-p4|rg u\urub

5,000 2,2 4pLuLI

(Lhprunltul UU2)

Ourutltulhqnr utlh\urtrptrhp' flrurqnpurqphp flql'ttql'
nrnurp\uh/tunurp\urtrtrpp ZZ r'nrupr'ubpfrg lnrpu

5,000 22 4puil
O1 uurutr4ruprn rn trrlh!urtrpl-rhplr r"npur u 4pnlrl

3,000 22 4purLlr-|rqlrtrqlr qru3 Llurhurqpf ir \ bg htuqtlLurbtrhplt

\p\troplitrtu\fr tnPurrftu4Pnnl

5,000 ZZ 4puLt,

(Lrhpurnlrr.1UU2,)

fhlqbr,r Lruh

ophtru4pnrplulip
uuhrlurhr.lurb
rldupnrLiLhplr

f-h,flrt ql, runtuplltullr hutturpurtrf 2fr lruri uhluurtr&ttuqpf

\n puurl-r r1h qpnrr.i fl-rtutprpurqfrp urpurr'iturlp L gu hrurlurp

(trhpurnlurl utupprurlnpnr hhpf hu2{urnrlurh'

2lrhupu4.rruLl tutr u hlutrir\uqlr L/lpu q3nrluurhr'nhuu\ur L

tnhfuhlr\uqlr hurLhuprutrf 2p tr urtluurtrdtrtuqf pp)

g.u{.l.rbpl, rf[r2tup4ulldrup (nrgrupurh5ntp

- rilrtrlh 12 rudlru \rnprlurbpnrl

13 36 Lurtlru \urP{ubPnrl

- 37 rur-[]rl. L urrlhft[r rlhqpmr'l

'Ilur}iurhurqplr pmEriurh b/tlnl {u4urdulf\tur 4ru4urptgdurtr

4tqpmrl

20,000 22 4purl

30,000 22, 4pLurl

50,000 12,1putr{

(1-rLpunjrul UU2,)

Lh,fhtql, tltufiuLhruqptplr pnbrituL 4tqpnr il'q1't'qh
rur.:urpl1,u1|r/runup\urtrhpl-r urpdhpf

. ilhL:tl 5 ttltr l2,4pur lr 4tulpnr (hru uqrdhp

rupururpdmlp)
. 5 15 riltr 12 4prurllr rlhrqpnnl (hrudurpdhp ruprnupdm]p)
. 15 Llltr LL Lur]h122 4purrif 4tqpnnl (hrurltupdhp

upururpdnrlp)
(prugurnnrplrur.tp UqunnlurLp.uLr \phrlfulur.lnp utl ophhpn{

(htpLunlurl UUZ)

2.12

1,000 Z2. 4pur

(trtnurnturt UU2)
3,000 2,2, 4purr"l

(htnuntrut UUZ)

5,000 lZ 4pLuLi

1![n6p1u1 UUZ)

2.13



'rlurSrfi.uhruqplr rlurqurdrn[\hui 4u4ruptgrftutr qhqpnnl,
hpp qum{hpp luil hp\\nqil runnulurdrunplr
uluqr[urfu tuqf pp huurnurr-nrltub 2t

(purgrunnrplurr-fp Uqurnnryu\r,uh \ph4|nnurr,lnpriurh opthpml
trru fr,rrr.r r.n hur]ur b 4tqptpf)

Lhqhl,qh
Llf 2tnplLu{durpp

hhu jr rlhpurrlurp&rlnr

'ilurliubuqplr rlulurdLurl\hur 4ur4urph grluh, f_lrqhLql,
urnurp\u1]r/urntLrp\rutrhpf llururru\urpuprlurh \tur,i
r[tuutrur\]r r.iururu\urpurprirutr, f tr2qhu hurL 2,urdurlunp4lr

\nrlLiFg Lhqhhqlr urnuqrLltu3|r/urnurp\urhhplr uurugnulfrg
hpurdurpr-huh (urLipnq2ur\urtr \ruLi tluuhur\f) thrqpnrd,
hpp qrutnrltpp htuurnutnrlurb I

LhqlrLql. \ruLluul]durpp,
rlf 2Lrnpryt]durpp hhur thtr
rltpur4urp&rlnr rI, rlf LrLrntlL

drurturLrurll hurdrulunplf
Lp.u1tlf g r.lrn[uhutnnrgrlurh

ktrpur\ur ttr gqftrqf
urnuipLluq |r/urnrupLluhtpf

&hnpphpriutr hLLn

\uLqrlurb pnlnp
burfuutpp, trtpurnlurl

LlLuLluruLldurpf 4|rLiur g

Lprrur ur Lplru b

rnn\nuruqnt irupp

- bpur2]urur{npnrplurtr(trhplr) \utf qpuLlf (hhplr) duni\hrnhg

2nru 4ru4ruptglrh1nr \unl rfrnrfrn]unrp3rul,r 4hulpnui
(nrpruputr5nrp hpur2|umrlnpnrpluL h qpurlf
quqrlurtrruqpfr qbnrl) qurtrdrlnl ilfr2trnp4utldurp

10,000 2l rlpur

(Lhpurn3urp UU2)

- 2,urdrulunp4lr allinuilr hfr.itulr rlpur dutf\hrn]r
hpLlurpur&qrftul.r, urpdnrlplr rfrnrf nluilu-rtr, urn! nuur4pnrlpf

$n{in}urfurh 4tulpnr (nrpurpurh5nrp qur3rlurtrurqplr
qbn{) qurtrd,r.lnrl d}rptrnp4urL] durp

10,000 22 4purl
(Lhpurn1u1UU2)

Zurdrulunp4[r 4]rLinrtf I hlrLiLuh r]1rur r-lurpr.[urh

dutlr.utru\urgnrl gh rhn$nluntplurh rlhrqpnul
(lnrpurpurhgnrp ulurlilurhurqph qEnrl) qruh&rln11

rllr2t-rnp4urL]durp

10,000 2,2 4puil
(htpurn3ur1UU2,)

2.14 Snqdtp - rnnrqurhphtp'

'thulftubruqpn{ hur]uurnhurlrub \rutrfu unldurpp (uj4
prlnul' rluruhpnt[ \uuluprlnrl) Lr {lr2trnpqurrldurpp
utuhr.[utrrlurb durLi\htnhhplrg hhrnn 2\urtnurptprr
4hqpnrd

. 5 u2luuluurhpurl]rtr op hhpurnlurl

. 6-15 ur2|uurtnurtrpru;ftr op hhprunluty

16 u2|uruuruhpuq]rtr ophg uLlll

50,000 Z2 4pull
100,000 22,4puril
(lihprunlul UUZ)

'Ihu}Iuhur qpf lmEmrf'
qulr.lurl,rruqpnrl

uuth urh{urE tnmdurtrp}r

{dupnnln{



Snrldhp Lr uu.nqulPLrtP- T hu}ltuLruqlnq hruluuultur{urb dutlurhru\rugnrlgfrg turlhl

Snr-1d 0.130/o- durlll ;rnuh.q firq]rhqulf tr rldurptrhplr trLlruullurilp

Snrld 0.130/oLurluturlurpd.p uruhriurtrrlub drurf\hrnnrtl fldurphpr

Ulrurhrluq
rtfr2trnpqrur{durp u{ut1
qruhlrh rurltl rluPr{nr1

rlurlp qnuiurplt
h\urutfu p 3olo-t, :*,l."rl

- Qnpbnrl ultuphuLuqpfr riLrugnp4]r S00/o L Lurlt# rhuprlnrl

riul p qnuiurplr rlurrluLdutt\hu urpnrr'i ru1 1 $lr trurl-ru ur\ tuh

\urnmlgtrhplrg uurug{ub rlh2ngLhph hur2rftrtr

(ptug.unn.p1u p Uulrunnlur\uLLr \phlfururr-lnp urh ophlpnrl

Lrruluuruhuriurb lhqptf rl,)

6 rur"tur{ur hu urP

uruhrlurhr{ub
rnn\nuurqnulurphhpfr

qurh&mrl

- U*lt, qnuftupp I-frqlrhqfr rnpurr'iruqpmr'tfrg hhrnn urnu2|rtr

6 /tlhg,' r.urfu{ur gtrpurgpntr.f ullpnrl2ntplunlp rfiuphlnr

4hulpnui
(pugurnnrpluttp Uqunnlur\urh \ptr1|rtnullnprfurh ophhpnrl

50.000 2.2 4puttiUurpuuqf tr rfuphphhpp 2 u2|uutnurhpurlfrtr oprlruhfg

nr2 ChLlhpnrplnrtr trtp\uqrughtlnr 4hu1pr.nr'i

Surph\utr ull{uLrtu\u[r
unbnuru4pmlp I I o/o

- 2.15.1\tug flrqlrLqfr tquq urhutpnrr[ ltrhpurnhpt



3. OUe bq qnfqnfUsh.{ZU6Utunf'}Lbf

N Aunu4n tplut It u b u u 11 p - u h {ut ltn ulp

3.1
tuliurhurqpfr 14hpr.furtr ilf rutllurq tl]r2LnplunldLup'
upuSrlurtrurqpli qnrtiuqrfr tr!unnrluulp

0.5o/o-20/o

h{ruqurqntShp
10,000 22 4puri

(hhnrunrrut UUZ)

3.2 Srqrh\uL rutrr]ruhur! urtr urn!nuu4pnrlp 7o/o-240/o

J.J Lurlirur.] tup&lr rnruph\ urh urLr] urtrru 11 utr rnn11 nuur4pnrl p 7a/o-240/o

3.4 'Ihul urtrruqpfr hhruprur,lnp updnrlp
22 4putr.i

UUL rlnlurp
b.lpt,

3.5

Utrlrru\utrntplurtr lrpurrlnrtpfr rlrnluutrgr,iuh {drup (rldurpp
uurhrlurtnlurb t pupurpurhynrp qurlrlurturgplr rluunrl'
uh!ufu 4pru runrup\ur hurh4furuonq qnrlphpf prutnuhhq)

5,000 22 rlptuLl

(hhprun3ruy UU2)

3.6

tluqtturtruqplr qnp6nrlnrplurL urnru2fh tr 3nrpruputr5nrp
hur2np4 uurpnrtl dultftltrnurhg frq]rtrquqlrtr rldurphhp h ru31

qupuun{npnrplnrhhhp lnrhhhurpl thqpnrtt rnuph\uh
rnn\nuur4pnrlp]r L{uqh gtttuL hhurpullnpnrplnrtr

0,5 o/o uurph\urtr

3.7
urnnr{urdurnplr rh*phph
4tulpnrLi qrutr&rlnr1

Sptuhuqnpuir.ulhL dh2ngh (S/U)

\n\t *\1, urprudtu4ptfurtr
rlfrgtrnp4urr.ldup

20,000 22 4puui

(Lhpun1ur1UU2)

3.8

Uhq ftqht qh qulilurhurqpnrl \trpLlurE .ih\hg unlhl
urpurtrurqnpunullrtr dli2ngLhph (S/U) uh{ru\urhnrplurtr
]rptur]nrtrphhpp rluru-r.furu rfrnluutrghpr qu.rpruqru3mrl

lnrprupurL5nrp qnpburppfr hutiurp qurtr&rlnr1
dfgLnp4rurldurp

20,000 ZZ 4purd
(trhpunlrul UUZ)

3.9

UpLi[rq]rLqf ur2fururnru\glr \"1.{lrg' npulhu [rurqnpLlurb
urtrd., 6O-nrt[ upurtruqnputul]rh rl]r2ngb hur2Lirunr{urtr

tr/\tutt ut{nu\urhnrppuL rfn}uuhgilurtr qnpEphprugp

lrpu! ruhuclrh1 nr 4hrq pnu{ qruh&r] nq f gtr np 4ur{ du-rp

30,000 22, lprur-i
(trtpunlurl UU2)

3.10 i-lrqlrtrqunnrlr rlrnLlrnlunrpl nrtr 300,000 2l lpull
(Lrhnurntrut UU2,)

3.11 Stqt\ulLpb upurlurrylturh rflr2lmp4ulldurp, ru14 prlnul'

llrqlrtrqlr rliruronlrrll-r rl hpurphplrq 1,000 2.2 4pur



1,000 22 qpu
- .ldurpnuftrhplrtrrftupnuihhpf rlhptuphp3utl

20,000 22, rlpunl

(trtpunSurl UU2)

1-frqlrhqlr utrLf ru\rutrntplutr |rputlnrtrplr
rlrnluurtr gdurh rltpurphplull uhrlh\Lutrpfr \pW'*\1'

50,000 22, qpru

(hhpunSurl UUi)

f-bqlrfrqh unrup\rutr htrpullrup&ur\ruprplutlp
urpurrftu4yrhlnr tlhpuphpl ur1 (mpupurtr5nrp

5,000 22. 4purLl

(trtprunpul UU2,)

ornu:prqhqnr $urqnptuqptp rlql'ttq1'
urnurp\uL/tunurp\urtrhpp 2.2. uuqiurEp hurughhprt

hurr.lurn' rnrptupuh;lnrp 2-p4f g u\urub

5,000 22 4purLl

(Ltpunlurl UUi)

Oulupurlhqnr tnhlh\urtrptrhp, firtuqnpruqphp f]'qhttql'
runurp\urh/urnup\utrtpl ZZ ururprubpfg rlnllu
oqururqnpbhlnr hturiruP

5,000 22 4pur- Olur.nruh4uprn nhqt\ruhptrhplr urpuntur4pntil

3,000 22 qprurtf-hqlri ql, upry.iurttuqpf tr \fg hurrlhplurbtrhplr

\p llLop |-rtrur\|r urprur'[rr.ulptri

10,000 ll 4ptuil,

(Lhpurnlurl UU2)

|rhyqhu LurL

opthu4pntplurJp
rLurhr.|.uhrlru b

LldupntiLrtpfr
rlnluhurr.nntgnt l

Llrqlrfu qlr urnurp\rullr hrurirupruh]r2|r !unl
urtluurtr&Luqplr \npuur[r 4tqpnn[ ltruqnptuqfrp
urp rurir.u rlph 1nr hru rup (trtpurnlutl

urul.rpru{r'rpnr rlhhpfL hur2rlurnrlurh,

2lrhrupurpur\ruL Lnhfutrlr\uqlr tr/\urd

qSnr rlurnLrurturu\urt urtlLrtrlr\ru1fr hurrirupurtrlr2p Lr

€u:qrlurEpfr urpuliurryrrlurh rt[2trnp4urldurp

Ll]rtr2h 12 rut[fu \rnPrlubPnrl

13-36 ur lru \uqrrlrubPn{
5,000 22 4pull

- 37 ulllru tr rutlhfr[r 4hqpnrr-t

flurlrlurtnuqrlr 1n$druh t/l1ull rlrurludullltu
qur+urFtgilurtr {tqPDuI

I-|iqlrtrqlr quqLiuLruqphplr prtbrlurtr 4hqpmr-l f-l'qhttql'
uLniuptlurllr unulr! LuLL lrlr urpdLplr'

(trtnurnturt UUI)

3.12

1,000 22 4pLuii

(htnurntrui UUZ)

3,000 22 rlpull
(l-rtnunrurt UUZ)

3.13



a r.ffrh1h 5 Llltr ll 4puLlfr 4hqpnul (huriupdLp

ruprnurpdnrlp)

40,000 2l lpurJ

(tLhpunlurl UUl)

r 5-15 rlltr ZZ lpur f thrqplrttl (hut{urpdtp ruprnupdnrlp)
60,000 ZZ 4prurl

(htpurnlu.rl UUZ)

15 Lifr tr rurlhlZZ qpurtifr rlhqpnrLl (hu rupdhp

urprnurpdmlp)

(prugurnnrplunlp Uqrunnryu\utr \ph1fruul{npdruh opthpn{
hurluulnhurlrub thqphph)

1. Lifrgtrnp4LuLldurpfr

purgur\uqnr plruL

4LqpnrJ' 150,000 22

4puul

(trhpurn;url UUl)

2. rlf 2trnp4urLldLupfr
urn\ru;nrplurh 4tqpnt'

150,000 22 lpurLlfr li
Lldurp{urb

rIfr2trnp4uL{dLupft

ururpptpnrplurtr prLlrnL{

(trhpunlurl UUZ)

- T [u3r.ltuhtuqplr Llrurlu-rdurl\hrn 4ru4uphgriurtr
4hulBnlr.i, hpp quurlhpp \uri hp\\n1d
urnmrlrudunplr qulLiurhulqblL hururnurnrlurb 1L

(purgurnnrplutip Uqurnnrlur\r.uh \pb1|rurLu{npLlurtr ophhpnLl

hurhunnhu! urb rrtut ptnh)

Lhqlrt ql,

Llfr2Lrnprlunldurpp

hhLn $ Lltp ruluqrd.r{nt

'IluSilrutrtuqplr rlurludur \Lui r}u4urphgt[urtr,

ilrqht qh runrup\tqlr/urnurp \urtrhplr
5,lurr-nur\urprup tuh \ruri rluruhurll]r
ururur\upruprhutr, lrtryqhu trurh Zurdurlunp4lr

\n{rflrg f}qlrt qh urnurp\ut3lr/runurp\urtrhplr
uururgnrtf]rg hprudurpt[urtr (urtipn42ur\urtr \*rJ
ilurutmr\fr) 4tu1pnul, hpp rqulnrlhpp hururntunr[ur8 |

Lhql.t qh \urhluLu{durpp,
!2hnp1uu.ldr-upp htu thh

Llhpurqrupdr-lmrt, LtfrLrtrnqtt

duuluLrru \ hurduLlurplf

\nqr1f g rlrnluhururnrgt[ruh
hLrpur\u tLr flrqfhqf

urnr.up \ uq fr,/urnurp\utrhpf
d.hnpptprturh hhLn

!ruulLlurE pnlnp
burluuhpp, Lhpr"unlrul

\urLfLruLldurpf rlf LIu g

\ nrr.nurLlr-]urE

rnn\nuuqnrt[urpp

bpur2|urutlnpnrp3rutr(trhpf ) \uri qpurLilr(trhpf )

duu.i\hurlig 2nrr.n 4urrlurphgtrhpr \uni
rf ndnlunrplurtr 4hqpnrr.i (nrpruputL5ntp

30,000 2l qpurLl
(Lrhpurnlurl UII2)



4. UnbqsruShLquglruqbr"lnhr€nhLLbf,
LbrquSusnr.S2nhr€nh1"Ltrr, eSnh'[usnuuruLLbf ,

'IbU'[ULUSLbf b'L']h'tULUqFSuquL
LbrqUgUSnr\52nhf€nhLLbC

OutnutJntp1uth uhuutQ p - utttt/uthnutpN

4.1
'[rulilruhurqpfr \hprfurh rf]rurtl{urq ri}2Lrnp4urrldup'

quSrfiuhurqpfr qntdurp]r h\turntlulip

Suph\uh rutltrruhu\urtr tnn\nuur4lntlP

Lruluurrlurn&h tnurntLruh ruh{urtlu\ruh urnqnqulpnlp

7o/o-2o/o

tllruquqnrltrp
10,000 lZ 4pruil

(Ltpunltul UUl)

4.2 8o/o-22o/o

8o/o-22o/o4.3

4.4 '[ urlftutluqpfr hhurpunlnp updmlp

Uhrlrur\urhnr.plutr fprurlnthplr rlrnluurtrgilurL rldtup (rldrupg

uurhri urhr]ur6 t lmprupurtr2mp qurliuhuqplr
r-ituunrl' ruh\tulu 4pru rumlp\u hurh4|uugnq qntlphpfr

pruhurL hq)

4r. +[ruu
UUL 4n1up

b.Lp"

4.5
5,000 22, qpur.t

(l-rtprun3ug UU2)

4.6

4.7

Sprutruqnpurtul|rtr rifr2ngh (S/U) runnu{urdurnplr $ruphpft

\p\tru\f tnpurltu4prlurtr rlhulpnrr.i qrutr&r{nr1

r[]rolrnnnu a urn

ff h\ frq]rtrqli upulilurtrurqpn{ \trprlurb LIk\lrg uulhl

urpurtruulnpurrul]rL il|i2ngtrhpfr (S/U) uhrliu[uhmp1u'rtr

|rp uLlnrtrptrhp g ruu- urr.r tf nlututrghpt qtupurqu3nul

3nrpupruh5nrp qnpEupplr hrurf urp qurtrA{nr1

rlf gtrnprltLrrldur;) 

-

20,000 ZZ 4punl
(trhprunlul UU2)

20,000 22 4purl
(htpurn3ul UU2)

4.8

'1)ru3tfruLurqp]r qnpbnUtp3urh urnur2lrtr h lntpurpurL5nrp
hru9r.rp4 ur.upnrr.i durtt\huurhg flrqlrtrqurlfrL r.lduptrhp h uq1

upr.qruurr-lnpnrp3nrtrtrtp ylbhhtupt 4hulpnu[ rnurph\ruh

urn!nuru4plt3plr trrlurqhgrlutr hhurptur-lnpnr plnrh

UpLf$q|fuq| ru2|u,*r,. q91, qrl,fhs ,,1,qt, 6*q";';*a
ru[r &, &O -nni urpurtruqnpururl ]rL rilr2ngb hur2rlunrlutr

tr/\urti uhrf u\urh nrpluth rf nluurtrgrluti qnpbptrpurgp

hnurL urtrurqbttnr nhulpnrr-[ qurtr&r]nq rlirgLnp4urr]durp

0,5 o/o rnurpt\ruh

4.10

4.9
30,000 22 lpur

(htpun;u1UU2)

Lf qlrhqrunnrfr {rnrlur}unrplnr h 300,000 2,2 4puL

(Ltpurn;ru1 IIUI)

4.tr tr rflr2trnprlunldrup, u{4 lrrbxl'
- I-hqhLqh Lftrugnprl[r {hptulhp]rul 

-
2,000 22, rlputi



(htprunlul UUZ)

.ldurpnuitrtpf tr ttrupn ulhtpfr rltpLuphp3url
5,000 22 4prurl

(Lrtpurnlurl UUZ)
t-hqht qh ulirfnu\urlu.nppuh f pruilnrhplr
rfrnfu urtrgtlurtr rlhpruphp3url r.nhrlh\utrp]r \p\L*\h
r,npurtlu4pnr.

20,000 21 4puLI

(Lrtpunlul UUI)

Lhqht sh unurp\uh htrputlrup&ulluprp3rur.lp
rnFurllu4phplr rihpruphplrul lnLpuptuh)Jnlf
rnhq li! urtrplr hun[urp)

30,000 22 4puril

(tihpurnlul UU2)

Oururpulhqnt jnuqnpurqphp 
1Jr qlrtrql,

urnurp\tuh/urnup\uitrhpp 22 rnurpurEp hurughhlnr
huu.ftup' lnrpurpurhllmp 2-p4'|rq u\uurb

5,000 ZZ qprurl

(trhpurnlurl UUZ)

Ornurprulhqnr uhlh\rutrptrhp, firurclnpurqpLp
t1,qlrtqll tunrup\urtr/runurp\Lutrlpp 22 r.nurprubplrg

4nrpu oquurqnpbhplt
(urnur.lh1uqnrltrp 1 r"nurplr duulll hrnnrj)

5,000 12 4pru

(trhpLLr nlur1 IIII2)

- Oy uunutrrp-upur ntrqh\ urtrptrhplr urpru ru4pnr
5,000 2.2, 4punl

(hhpurnlul UUZ)

Lhqht, ql, qulthu L urqpf L 11|rg hunlhlltubtrhpf
\p\Lopf Lu\f rnpruriurlpll

3,000 22 rlpur

(hhnruntut UUI)

t-hqht,qh urnrup\uqlr hutltupurh]r2[r \rur[
urhlLrtuhd.hurqplr \npr-rurlr 4trulpntd 1]rtuqnpLuqlrp
r.nprur.lurqphlm hur urp (hhpunlu1
uuppurlnpnrtfirhplr hur2rlurnilurtr,
CfrLurpurpur\urL tnhluLh\ulllr tr,41urf

q1 nrrlurr.nttnhr.rur\rutr rnhlutrlr\ur1f hunftupurhlr2p tr

urhluuLd.trurqlrpp)

10,000 ZZ rlpuLt,

(LtpurnSurl UUZ)

|rtrlqtu LurLr

opthuqpntplru p

uu.rh urLr{u.rb

Lldurpnt hhpf
{rn}uhruurmgm

4.12
PurdurEph upurilur+Frluh il[2lnpu{dup
tnrllupruhrtnrn r{u{ilurbuqnh qhnr.l), rur+ prlnul

- illihlLr 12 unilru \rnprlurbpnL]
1,000 2Z 4pur

(hhpurnlurl UU2)

- 13-36 utilru \rnpriubpn{
3,000 22 4puti

(hhnrunturr UUZ)

37 urlfru h uLlhftf 4hulpnrr.i
5,000 2,2 lpturl

(hhprunlurl UUZ)

4.13
ahu[Iurtrurqp[ lnthturh l/l1urd {uqurduttlltu
4ur4urpUgLtuh 4tulprlil

Llrqht qh qu3 urtrurqphplr prErlurh 4tulpnul
f lr.fhlrq1, unurp\ru1|r/urnurp\utrhpf updtpfr'



5 15 rlfr 22 4prutifr thqpnr \rurt hurlrupdtp
urpururpdnrlp

rlfrtr2h 5 rlfr 2Z rlpuli[ 4hqpnril \urti hrurlurpdtp

rnprnupdmlp

15 r-i1tr tr Lu{h122.4purIf 4tqpntti \uri hurLltupdtp

urpr.nurpdntlp

'luqrtruhurqplr rlurrludurrf \liur 4tu4uqrhgriutr

4hulpntrl, tpp uy.uuultpp \urLi tp!\nr1il
unnl!u.rdrunplrLqrutrftubulqhpl}hurur.nuql[lq11 .-

40,000 22 rlprur-t

(trtpurnlurl UU2)

60,000 2,2, 4Purl
(LhpLunluq UUi)

1. rif2Lnplunldurpfr

purgur\ur3nrplul.r

qhqpnrti 150,000 ZZ

rlprud

(hhpurnpul UU2)

2. ilfr2trnplur{dupf
urn\u1ntp; urtr 4hqpt.tr.f'

150,000 2.2 4purLl[r 1,r

ridup{ub
rI[r2trnprlurldupf

ururpphpnrpltuLr 2urr.]rnr-i

(Lhprun;uq UUZ)

Lhqht qt'
rflrgtrnp4u{dupp

hhrn 1|r rltpurqrupi.r{nui

Orullurhruqflr rlurludtu\hur qtu4urphgr-lurh,

Llrqht qlr unrup\u.q]-rlruntul\urhhP h
yrfturnur\upuprlurtr \*rl riuuLut\it
t[ ururru \ r.u purplfutL, ]rtry1[iu hruLr 2.urdur]unp4[r

LlnrlLilrg fl.qlrt ql, unurp\r.u1f/urnup\urtrhpf
uururgntrlfg hprudrup urh (r.u pnl2ur\rutr \urtt
duruhtu\lr) 4tqpnrl, hpp qunnr-lhpp hurluuu{rub L

I-frqf Lqlr \uhluu{dupp,
rllr2Lnp4ru{dupp hhrn 2hlt
rlhpur4up&r{mr{, rl}rltlmrllt
drurfuLur\ hurdurlunp4|r

\nrpifr g rlrnluhrurnmgrftuh

htrpur\ur tb ftqhbqh
runurp\ur1 fr/runurp\ruhhpft

&hnpptprlutr hhttt

\uqrlurb pnlnp
burluuhpp, hhpunSul

lltuhfurur{dtup}r lfrdtu g

\nunur\r{ub
lnn!nuruqnr{tupp

bpu2luunlnpnrplurtr(hhplr) \urd qpLuLllr(hhpf )

dunl\hulrg 2nrur 4u4urph gtklnt Llur

rf nr-|rnlunrp;ruh rlhulpnt (lnrpurpurhSnr-p

t ptu2|utu{npnrla1 tutr h qpur{r qurltturtrLuqpf qbnrl)

qrutr&rln1 lr2lnp4unldurp

20,000 Z2 4putl
(htpurnlurl UUZ)

2urdtulunp4f 4f Linuilr hlniurtr r$ru dtu \trnlr
hplurlrur&q urh, rupdnrlplr rlrnLf nlurftulr,

20,000 2,2 lprurl
(Lhpunlrul UU2)



rnnllnuru4pnrJBf {rn$n}uduh r1h rqpnr

(nrpurprutrSnrp u{urpftuLuqlb qbn{) quLd{n1
rifrg tr np4tu tl d ru p

Itudtulunp4]r 4|rLinrillr lilrilurtr L]pur uqllurtr
du rutru\ugnrlglr r]rnr]nlunrplutr 4hqpnr
(nrpu-rpurtr5nrp quy.iurtrurqlh qbntl) qLuhd.Llnrl

rilrghnp4unlduqr

20,000 22 4punl

(Lrhpurn3ru1UU2.)

4.14 Snrldtp - rnnqurhpLhp'

'Iltqrlurhurqpnr.l hurlLrurrnturlurb llurhluunlduqrp (url1

pLlnrr-i' rluruLpnrl lurrntup{nq) L f2Lnprpu{durpp
uruli urtr{urb dru rl\ hrn tr t p nrr.I $utnurphpr
4hqpnul

o 5 ur2luutnurhpuqfrtr op hhpu.rnlurl

. 6- 15 ur2|uururuLpurllrh op trtpurrlurl

1 6 u2luurnrutrpuqfrtr opfrg rurlhl

50,000 12, 4pur
100,000 22 4pur
(trLpurnlurl 1IU2)

nur;r.huhurqplr prbnrlf'
uprq urhruqpnrl

uruh uhrlrub urnrdurhplr

{durpnr ntl

'IlurJ urhurqpnr{ hru}uurr.nhu{urb dur utrulurgnrl g}rg

rurltl rlurpnrdtrtp \tuuruphpr 4hqpnrll
SnrSdhp l-r r"nnrqurhpt.rhp

;hh qurh&{nnl

druLi\hurutrg flrqlrtrqujlrtr Llduphhplr hllurur[ur p

(opru\urh)
Snr3d 0. 13o/o

Luluu{updp uruh urhr.lurb durd\hmnril 1L[dtuptipr
4hqpnrr.i (optu!uL)

Snrld 0. 13olo

4.1,4.1

Qnpbnl qruliurtruqpf trrugnp4f 500/o L rurihflr
riuqtlnrl rlurlp gm urpfr rlruquduLiLlhur t[urpntr-l ru11

$lrLurhuru\rutr !runnrl gtrhpfro urnrugr.lr.tb rtlr2nglrtpf
hu2{ftr

Ufruhtlurq
r.[]r2Lnp4rurldurp u{ ur1

u1u-rhlrtr u{t1 rtupr}n1
rulp qnt urp|r

hLurm u p 3olo-h )urrhml

4.14.2

- Lhu3p qnuirupp Llrqlrt ql, urpunlu4pnrt[f g hhr.nn

runru2|rll 6 /ilhg/ utturlur ptrpugpmtf
unlpnrl2mpyunlp riurphlnr 4hqpnui

(prugurnmplrur,lp Uqurnnlur\urtr \ptrlfruluLlnp utr optLpnr-l
trr.ufuurutu{ urb 4tq pknh)

6 rurlurlur hrurlurp

uuhrlurhtlurb
urn\nuurqnufiuptrhpf

qruh&nr-rl

4.14,3 Uurpuurl|rh rlrrupbphtpp 2 ru2]uruuruhpul|rL optlurhfg
n12 Ch\hpnrp;nrtr trtp\ulrugLtlnr thulpmr-l

50.000 2,2 4ptuLl

(hhpuLnlul UUZ)

4.14.4 4, 14. I \Lurp ilrqlrt Cl, qur3 r.uhruqpnr lLhpruntpr
ntrupnr

Surpt\ruLr utrrluLruLpuLr
r.nnLlnuurlpnrlp+ 1.o/o



Utr2ruPdqnLJPhtqlrt q

trnlnf faFfun U3FL tuUtrbfh 2UUUr

Autnulntpluttt uLuwQp - wh{whnulp

'rhulilurtr urqplr \Lpriuh dlrurtrrluq tif 2tinp4unldurp
uruttr-iurlrurqnh qnl urpl.r h\urrn urrlp

N

0.5o/o 1o/o

1.1

1.2 Srulh\uh tutrrlurhur\ruh urnllnuu4lnt lp

Luluu.rr.l rulrd.[ uruph!utr urL{urLru\uL urnLlnuru4linrlp

10-14%

I 0 140/o
1.3

1.4

1.5

nurliftutrurqpf- htrrupunlnp urpdnqp

Uhrlrur\ruLntp3urh lrpu{nhp}r rlrn}uurtrgilruh r{drup (hhpunlurl

uu2)

r.r. qPluu

UUL 4n1ptp
bqln

50,000 22,lprurl
(trhlurnl urt UUZ)

0,2 o/o urulph\rult1.5

1..7

1.8

'tl uq rlurirLuqplr qnpbnrlnrplurh urnu2lrh [r Srrpurprutr;ntp hur2np4

r-nutpnul durrl\turtuLg $qlrtrquq|rtr rlduplLtp h ru31

qrupururrlnpnrplntLrhhp yrtlrthrupt 4hulpnr r'nupt\rutr

rnnL nu uinnnttph hrl uq hqrlutr hLruprur.lnpnrplnttr

Llrqlrhqrunntir rlrnr.[rn]unrplnr tr

Shqt\rutrp[r urprurluryiluL dh2tlrpurqdurp, urp pr{nut

*r*r-**t.-t.-,
- .{drupmrfhhpf hrfiupnultrhp}rrlhpurphp3url

- i-|rqlrtrqfr utrlrur\urtrnrplurh lrpru{nthp}r r}rn}uruhgrlurh

rlhpurFhlr:urL rnhlh\urtrplr \frUrofrtrhur\tr tnJrullu+pnrtt

- I-frqlrhqlrurnup\urh hhpurlurp&ur\urprpSur p

urpullur4phlnt rlhpuphp3url (lmprupurh5nrp tnhqh\uLph
hrurltun)

- Olutnrub4tupur uhrlh\tutrphhpfr urpuliru4pntrl

- I"irqlrtrqfr qurltlurhurqpfr h \[rg htuilhlqubhhp]r hp\pnpa

\p\hopirhu\fr rnprurlurrlPmrl

300,000 22 4purLl

(l-rhpurnluq UUI)

5,000 12 qpLurl

(trtpurnlrul UUI)

5,000 2.2 lpruri
(trhnuntu-rt UUI)

10,000 Zl4pu.r

(hhpurnluq UU2)

10,000 2.2, 4pud
(trtrprunlurl UU2)

5,000 22 rlpull

(htnurntut UUZ)

3,000 22 4puLI
(lrtnurnrrut UU2.)



1.9
9u4{rubp[ uputuryriluh illr2tnp4u{dup (ntprupurbgntp

qqrlutnlqrlr qtnrl), up pr[nul'

- ilftr1L 12 ruillru \rnprlur6pnr{
1,000 22 4purri

(trhpurnlurl UU2)

1 3-36 rur[ru \up{urbpnrl
3,000 22 qprurl

(hhpurnlurl UU2)

- 37 turilru h unlhfir]r 4tqpmrl
5,000 l2 rlpurJ

(Lt1.rurnlur1 UU2,)

1.10
'IhulilrutruqPlr lnrbrftuh t{nnt r[u4udunl[tur +ur+u+t$Iutr
rltqpnul

- Lhqhlrql, qrulLiurl-rurqplipfr lnrbrlurh rlhqpnr f_hqlrt ql,
unurp\ ur1]r/runrup\ rutrhpfi updhpf '

ilfrL2L 5 il1h 22 4putlf thqpnrtt (hruLftupdtp urpururpdntlp)
5-15 Llltr 22 lpLuLllr 4tqpnul (huulLupdtp rupuLupdnrlp)

40 000 21 4pur

(trhpurn;ur1UU2,)

60 000 22, 4putl
(Lhpunluq UUI)

. 15 il1h h u{t122 lpurilh 4hqpnr (hutirupdhp urpulupdnrlp)

1. rllr2t.rnp4urLldurplr

pru g ruLlurl ntpl rutr

4tqpntLl' 150,000 22

rlluri

(trhprunlLul UU2)

2. Jfrptrnp4LuL{durpf
runlqrulnrplurL

4hqpnrr-l' 150,000 22

lpurlf L Lldrup{urb
Llfgtrnp4urLidurpfr
ururpptpnrpjuh

lurLlrnL|

(trhpurnlul UUZ)

-'rl ur}iuttrruqpf {ur}udrurl\tLn 4ur4urpt griurtr 4tqpnui,
hpp quurtlhpp \utt tp\\nqLt runnr {rudurnp}r
uluptuhuqhlrp hururnurur{urb 1L

Ll.qht qh

f2hnp4urrldurpp
htu fr

r{hpurqurp&{nt



Lhql,t qh

\Lut-rluurrldrupP,
tilr2Lrnpqurr.]du pP htin

thL r.ltpru4urp&tlnt ,

frhhntlh dutlurLru\
hudrufunp4|r \nrltlfLg

{rnluhutunrgr[urh
ttrpur\ru htr qntlPir

d.Lnpphpr,huLr htm

\uqLlub pnPP

Eurluuhpp, tLhpurnl t'u I
\rutrluru{dup}r 4[LIurg

\ntuur\{rub
un\nuutqnt lupp

'rluqriutnuqplr {urrlurdulrf\tm $u$uphgr'iurtr, f trlulhu

trurLr 2,urdurlunp+1, \"lrfttg hpLudurpr'lurL 4hulpnt f , hpp

qtr.rurtlhpp hr.uuurtutn{urb I

10,000 ZZ lpull
(hhpurnpul Ull2)

bpru2|uul[npnrplrutr(trhpfr) \unl qptur-i]r(trhp]r) druri\hrnlig

2nrur 4uulurphghhpl \rurl if nrlrnlLrntplurir 4tqpnr
(nrpurptuLynrp hput2]uur{npnr plurh tr qpurLl}r

rqtul t[urhurql.rlr qbnrl) qrutr&rlnq ri]r2trnp4urrldtup

20,000 22, qpurl

(Ltpurnlru1UU2.)

2.urdurlu np4fr 4lrrinullr hf r-f utr r.$ru durlllLurf
hp\urpur&qtturtr, urpdnrlp]r Lirnrlrnlurturtr, ulr\nuru4pnrlpf
rlrnr.]rnlu{tutr 4hulpnrr.i (nrpr.upruhSr.rtp upulriurtruqp}r

Snqtltp - rnnqurtrPtrtP

50,000 22 4purl
100,000 ZZ 4prurf
(t.rhpur nS url UUZ)

'Ihu1rlurhuqrfr lnrbmri'
qulttuhruqpml

uuhr.tuhrlurb

rnntdurhpfr r{dupmilm{

'Ihul url urqpnrl hurluruurhurlurb \Lutrluulldrupp (ru34

prlnr ' durutpn{ \ruuruprln4) Lr rllr2hnp4ur{dupp

uru}u-furhr{urb dunl\turlrtpmtt lluurutphlnr 4hu1pm

o 5 ur2|uu:ututrpul|rh op trhpr.unltul

o 6 15 u2luruurutrprulf h op LLpr.un3rul

. 16 ru2luurulutrpLulf tr oplrg Lurltl

Snr-1dhp h umqurhphhp

thh qruh&rlmrl
tury-lurLtuqpnr-l hLuluunnhur[urb durtlurhur\ugnrl gf g unlhl

LirupnrtlLhp \ururuphgt 4hulpnul

SntSd 0.130/od uti\ hururLg f qlrtrquq lrL {durpLhpfr lr \urrnr'iurrlp
(opur\urL)

1.11



- Ltuluurlup&p uruhilrutnlruE dturf\huinrr'f llduphlnr

4hr{pntri (olur\rutr)

QnpEnrl qurlrlurtruqplr ritrurgnp4fr 500/o tr urrlhfli ti*ptlttt
tirulp qnrilrupli rlu4urdtutt\hm tfurpnul ur31 $]ihurtrutu\utt

\unmi g[rLplrg ur.nurg{urb ri}r2nghhplr hu2r{irtt

- Llurlp qmrltupp Llrqlrlrqh urptu ru4pnnif g hhun runur2lrtr

6 /tlhg/ urr.iurlru phptugpm utlpnrl2ntplrur'lp r'iurphpt

4hqpnul
(pur gurnntpl urtip Uulurnr.rqur\tuL \pt4frurullnpJurtr ophhpnrl

Lrufu rumLu urb nLtupLrrh)

Snr3d 0.130/o

1.1r.l

UlluL{uq
dir2Lnp4ul{durp urlfuurl

qruhlrh urlhl durpr{nr1

rfiu1p qmdrupfr
L\ruuniullp 3olo-[r

)ru+nq

6 urr,lur{ur hu.uftup

uu-rh urL{rub
urnLlr.ruruqlt utphhpfr

qruhArrr

t.ll.2

1.11,3 Uupuur3frtr rlruphptrhpp 2 ur2|uururruhpurl]rh oprlurhf g

m2 Cl,r\hpnrplntL trhp\uqrugtrhpr 4tqpnr

1. 9. 1 \ hurp f-lr,f 1.ttqh qrult[rul-ruqpnttt ;trhpurntlnr
4hqpnul

50.000 22 4pruri

(trhprunjurl UUZ)

1.11.4

Surph\urlt
u-rtllurLu\rutr

urn\nuurrlpmlP + lo/o



trhgl,bu qufq

trnlnf oFrutuuShl, tuutrbrh 2uuur

N Aunulntplurtt uhuutlly - uht/utfirut tp

1.1
'll LulttrutrLu qpfr \ trpr-furl,r ]rurtr{uq Lllr2Lnp4urrldurl' .I"'ft\h
qnultul.rlr h\uur tlurrlp

1 
o/o- 2olo trilutqruqnt j t.rp

'l0, 000 22 4purl
(Ltpurnltul UUZ)

1..2 Surph\rutr ruhr]urhu\urh un\nuru4pqp ,- 7o/o 19 .9o/o

1.3 'Ilur] ruhurqpf hLurpur{np tupdnr3p

l.r. 4lrur u

UUL 4n1prp
brlpn

1.4

'lhu3tfurLurqplr qnpbn4nrplurtr urnru2frh h lnrpurputrSnrp hru2np4

uru pnul durtf \tuuiL g rldrupnrilhhp Lr u.r1 1 ulurpulu{lrpnrpl nttrhlp
yttrhtrurlnr 4hulpnul urrupt\utr tnn\nuulpnrlpfr Ltlurqtgrirutr

htrtupturlnpnrpjnrtr

0,5 o/o rnrupk\ruh

1.5 St4h\urtrplr rnpunftu4prlurtr rflr2tnp4ul[6rup, uql prluul

- .l*n\hiltrurgnp4|rrlhpruphplutl
1,000 12 4purd

(Lhpun1u1 UUZ)

.ldurf nultrtlh h urpnultrhplr rltpurptp]url
1,000 22 4prurl

(hhprunlurl UUZ)

Zurdurlunp4fr gurh\mpSutip ru31 pnr]urhrlu\ntplurtr
ulupruqur3mrl

5,000 Zl 4ptuti

(trhpurnlul UU2,)

1.6
Aru4rlurbplr urpur{ur4pr&uh rf[rgtrnp4unldup (ntpurpurhSntp

ullulduhulqFh qhnrl), ur14 prlnul

rffir2Li 12 u lru \urpr.ltubpnr"l
1,000 22 rlputl

(hhnrunrut UUZ)

- 13-36 unllru \urprlubpnrl
3,000 22 4purLl

(trhpurnlurl UUZ)

37 LuLi]ru Lr urr.[trflrlr rltulpnr
5,000 22 qpunl

(irtnruntrut UU2.)

1.7 Ulr2Lnp4rurlduryrlrtp, urJrl p{nlil'

'Il urJLlurLtuqllr L[uulurdrutl\hrn 4ru4uptgIIuh rlhtlpnrri

(purgurnnrlalru p Uulurnnrlu\urh \pt4frr.nur{npL1utr oplihpnLl

hur]uururl ur.lur b ahLq phpf )

{LuPqp
rif2Lnp4u{dutpp

htLn 2fr

dhpurqup&{nu[



- bpru2luur{npmplurh(hhpfr) llunl qpurrl}r (l-rtp}r) duil\htnhS

2nrur ryurpuphgtrhprt \Lurf rlrnrlrnfu nrplurtr 4Lqpnul
(mpuputryntp hptu2|uur{npmp3utr h qprur]}r

qurlirutrurqp]r qbnr.l) qruhd.r{nq rllr2trnp4unldrup

20,000 2,2 4prurl

(htpurnlurl UUl)

- Zudulunp4f afilnLilf hfrttutr fuur duni\hufr
hp\urpru&qilurtr, rupdnrlpf rlnf nluLiurtr, rnn\nuru4pnrlpfr

{n$n}uilruh rlhrqpnul (nrpurpurtr5nrp qulilrutrtuqpf
qbnr,l) qrutr&rln4 rllrgtrnp4uuldurp

20,000 22 4purr-f

(hhpurn3rul UlI2)

2,udulunpl|r 4frlnulf hlr uLh {pu rfup ruh
dturluhu\rugnrlgli rlrnrlrnlunrplurh 4hqpnrr.i
(lnrpurpurtr;1nr1i qrul tutruqpf q8n{)

20,000 2.2 4pru

(hhpurnlurl UU2)

1.8 Snrl dtp - urnrqurbphhp'

- nru3rluhurqpnrl hufu ruu hu{rub durilutrru \ru gn13 g}rg urlhl
r.iurpnulhtp \ururuphlnt 4tulpnrd

Smldtp l-r

urmqurhptrkp 2htr

qruh&rlmrf

- d tur.f \Lr,nurtrg r.nnlr-ru urqnrl[uphtpfr hllurrnriurlp (opurLluh) Snrld 0. 13%

- durr.fltr.nurhg riuqp qnuirupfr tr\urunltLnlp (opur\urtr) Snrld 0.13o/o

Qnpbnrl qur3rlutrurqpfr ilhurgnp4f 500/o h rurltlf rlurpr]nq
u1p qnr ruplr rlturyuduti\tu r[urpnuf uq1S]iLurtruu\ruh

\runnrSghtplrg ur.nurg{ub ttlr2ngtrhplr hru2{}rtr

UfrurLLluq

tlfr2trnp 4ru tldur p

Lnrlurl quhfL ur{h1

rlurprlnq uqp

qntrluplr L\urullunlp
3olo-|r purlrntl

- U*ll qnulurpp t-hqht qh rnprurlur4pnulf g hhurn runtu2|rh 6
/{hg/ rudurlur ptrpurgpnul utipnrlgnrp3utlp riruphpr
rlhqpnrr.i

(purgurnnrpl urLIp Uqurnnlur\urh \ptqf tntuLlnpLiu-rLr ophLpnL]

Lurluutnhur.l ruE 4hru phnh)

6 ur urlru hurr.lurp

uurh urLrlurb

un\nuurqnrLlurphhplr

qurhJ.nni



UUSUrrUfUfLbfh b.{, qnf()CLqbfLbfh zbs

zuuuqnrouqSnr.f€nhL
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